Fluid Mechanics - Homework #3.3
Names: Ethan Eisenburger, Kayla Davies, Ethan Kishinevskiy-Kelly, Josiah Taylor, Gershon
Tolliver

Summary: This week in fluid mechanics we learned about pumps, pump head, impeller sizes,
cavitation, and were also given the chance to view and feel a real pump impeller. We also talked
about pump selection, learned to use a pump performance chart, and began on our pump
selection project.

Chapter 13:

17 - Kayla

19 - Kayla

22 - Ethan K

23 - Ethan E

25 - Ethan K.

34 (only select 2 for this problem) - Gershon
55 -Gershon

65 - Josiah

Design Problem 3 - Josiah



13-23)



/478)  Q-l00gpn
h =400 5
fu Fare 1522
13 %310
Tniet: 1%:in
Oier 4 in,

13.25)

?'

13-34)



|3-:
":H) &%wm&Mstwmcm,fmvammggw
A) 50054/ mir of vitdw ot 3064 o8 1ol head Q=50"%,

13-55)

o H= 30+
ex8xll.5 60Hz |775 ppm

[4 xCx7.58 -1 OHH COH: 3520rfm N =67% /

D) 500 8 fiy 06 wisher a 800 FF o head _
Q’@%’y:

Eré x4 -] OHH GOH, 3570 rem — Fl= G'I*Ez’i Ve =300 4
4x6x 44| OHH 60w, 3570rm  h =58%
3xYUX |7 -] OHH GOH, 3570rem 1= 2%

ZxHxAT-2 -OHW 60H, 3570tem W= 99.9%
4xgx 1781 OHH GOHy —3570rem V= 539

feeeee




13—55)

Dekormine 1o avasiasic NOSHAorsh, sy, Tie Auid 15 vt 2 80" ant o ebthenct
Tieasarz 15 10, § kiu., The wither (Ml tn e ek 15 Z.On bidow the P et The Verttial et o
e S84 Yim Is ¢« PN 80 SChidule Y0 teet Pit:, Whoress Hoherizrm lef 15 « DN 50 schedue %0 pibe ,

1.5 lons, Thy kb 15 6 e leng-Vatdiis $Pe, Nedlett the | 288 i e Rdear, Thetool vty ané Stsing

W 68 e hinged -disk Jve. The-blaw Vake 15 300 L/m. T=80°¢
i P 1018 it

V= 1.5 kNpm*

0:0.0779m

As=4.768 310 ' m*
D“'L—- 0.052%
A, =2.148% 1973t
L = libm

NPSH, = hy =hs -he ~hy Q=300 Y

hope S MOLEER 4y V=3.60x107"%

' ¥ 953 KN/

h; =-2.0m

Secien i . i

"!J’ % y g:;f?:: s £;;;'ﬁ/wn = |.O% my

e =YD - (1-047)(0.0774n) . 725044

2.60 x 107 %

_2_ 0.0779m  _
T nl0-5, = 1693

520017, £=0.01943

heyzaniel Lne
500 L tf l.@ m7s =
‘{ 7. 165 210" 2 6P 008 L fmin 2.306 ns

Ok i (ﬁﬂ'-’...fu
Ne = % = 3346292

LR = _Q-_EEE-‘;_;.'- =114/
4 YExid " m
£=0019 . £:0.02055
hL hL

A A A A AL A XL NN NN NN XYY Y Y YN N



hy = £ (L/0)K 29)+F (8)( Vs f28) + 2, (2000 [29)+ £ (11, X4, '/28)

sustim foet yul e Elbsir Herrampel

ha= (0.9 1942)(1-5mf0.0778,)( 1. 0§ /211:%) + (0.017)3)(1. au?z(r.:z))
+ 20.019)(20)(2.306 £o(1) + (9. 02055)(1.5, /0.0525,)(2. 306 /2 t8)
= 0.0206 +0- 00749 #0,2 0595+ 0.15913

hy= 0 .303m

}1” =Y 067 m 4+ 80%

NEEH, = by~ his “lin wiline

=A0.67 - (-z.05) 0313 4167,
= Z 18

NPsH, >1.1p NP5y,
NPsY, < - T3,/ 10 = G5 ]









